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What will be the remainder obtained by dividing the terms of the sequence 10,14, 18,22--- by its common difference
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The sides of a triangle are 13cm, 12cm and 5em.What will be the position of the vertex opposite to the side 13cm based on
a circle with this side as the diameter? What will be the position of the vertex opposite to the side 12cm based on a circle
with this side as the diameter?
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The sum of a negative number and its square is 30. Find the number?
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Two digt numbers are made by using 2, 3,4. Each of them is written on small paper paper piece and put it in the box. One
of the is taken without lookng into the box. What is the probability of getting an odd number. What is the probabilty of
getting an even number. What is the probability of getting the number in which both digits same
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The first term of an arithmetic sequence is —4 and its common difference 7. Write the 30 th term and algebraic form
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In the quadrilateral ABCD AB is parallel to CD. ZB = 70°, then find the remaining angles
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Ammu’s age after 15years will be the square of her age before 15years. What is her present age?
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In the figure AB,C'D are perpendicular to the diameter PQ.AB = v/14,CD = v/ 18Find the length AB
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